No3 B &AERX (ER)

95.(1)2 5 A(1,1),B(5,3)2H Y., IHICHPAEMRy=2x+1FEICH 2 LT 5,
AP=BP L7253 L XD P DFEEL KD X,
(2) TEs 25 A(1,1),B(5,2),C(2,4)TdH 5 AABC DAL O DJFEFER KD X,
(3) TEAi2Y A(0,1),B(5,1),C(4,4)TH5AABC 2°H %, AP?+BP? + CP? 23 i/MIC 7%
2L EDHP OEIEERD X,

96. Wity = x2 A 1ERy = 2x + 12 B Y VISR DR | 23k X,

97. XD 3H A,B,CRHA LTI =AEOBIREE 2 X,
(1) A(2,0),B(3,-1),C(4,1) (2) A(-1,-2),B(2,2),C(-5,1)

98.2 1 A(0,2),B(4,0)icR L, AABC SIE=MATEE 3 X 5 Ak C DEEA R X,

99.2 5 A(1,1),B(5,3) i L., AABCHAEA=AIZ L% 5 X5 & x il LD C DEfE%
ko X

100. 5 A4,3)ICBIL T, M PQ2,1) & MR Q DJEEA Kk X,

101.3 £ 0(0,0),A(1,-2),B(4,2)Icx L. ZAOB O " NH L EMAB &£ DX P D
JERE % Sk X

102. 3 % A(1,3),B(5,1),C(3,5) & 5 D 23 FATPNAE DTER & 7 b L &, KD DR
ko X,

103. ROEHD S E KD X,
(1) %(2,3)%@EY, HZ 4 DER
(2)2 #(1,2),(5,7) % B2 ERR
(3) 2 #i(2,3),(2,6) %@ 2 EHR
(4) 2 5(2,3),(4,3) % B2 ERR
%

X
(5) 2 #i(3,0),(0,2) % % EHR



104. 52, %MD, Ef2x —y + 6 = 01T PATREHR & TEE R EMRD TRz KD X,

105.2 EfRax+ 2y +3=0,3x+ (a— 1)y +a =00 ROEMG -+ &, Eanfiz
ko Xk,

(1) 2 AR TEE

(2) 2 EREAPAT (—BUT L7aw)

(3) 2 [EARD—EL

106.3 5 A(1,1),B(3,5),CQRa+1,a—-2)2E—EMR EIcH 5 & &, EfaDfiz ko
J:c

107. 3 Ef2x+y—7=,x—2y+4=0,ax+y—-1=00 1M TRb % L &, EanDfl
R X,

108. 3 Efi2x+y=1,5x+4y=1,ax+by =11 1M TRbb L T%, DL E, 3m
(2,1),(5,4),(a,b)HFE—EH LICH 25 Z & 2R,

109. 3 EMx +y—4=0,2x—y+1=0,3x—ay—a = 0 =AEEEL R\ X ) REK
a D% KD X,

110. Bk +2)x + 2k — 1)y — 4k — 3 = 025, EE k OEICEARZ 38 2 7E 5 A DB
ko X,

111. 2 EMfx+2y—4=0 - D,2x—y—3=0 - QORHEBIEMRD I B, KD
i T ERO TR T KD X,

(1) m(1,2)%H5,

(2 EFB3x—y+1=0&FfTL %,

() Effx —2y+3 =0t FHL LD,
112.2 5 A(1,2),B(5, D) Z i St O BE _FEo O iRz ko X,

113. Eff2x —y -3 =0ICBIL T, m(1,4) & 07 B DFEREZ KD X,

114, Ef2x —y—3=0ICBIL T, Efix—y+1=0& NHABERDOHEXEZRKD X,



115. 2 51A(1,6),B(5,3)»*® %, P23 EMy = —x+5 L% < & &, AP+PB D K/IMHE
L. ZDEEDHP OMEEERD X,

116. (1) 77 2 8y = 2x — 3,y = 2x + 4D g% ko X,
(2 H@A,3)POEMx+ky—1=0C FLEEROREINV2TH S L&, EBK Dl

ko X,
(3) H(B, ) LEMEx +4y +k=0IC T L-EPORI N2 TH L L &, Tk D
fili & 3k &> X

118. 31 A(5,5),B(0,4),C(1, D% [EL L T3 AABC IZDOWTLIFORWICE 2 X,
(1) 5B %ZEY, AABC DHE% 2 5403 2 EHMED HFEX %KD X,
(2) Efty = mx —4(m — 1)DPAABC Dllif&E% 2503 5 & &, EM m D% KD
X,

119. (1) Wity = x> LD P LEfy = x — 20 RJHER L Z D & T DA P DR L Ko
o
(2 Wty = x> LD P & 25 A0,-2),B(3, DZTHEN L T 5 /AABP DHfE S Dix
IMEE ZD L ZDRIP DBEMEZ KD X,

120. By = x2 11 ZPOQ =90° %729 3 15 0(0,0),P(p,p?) (p>0),Q(q,q2) % &
%,
(1) TR PQ A% 2 M A ko X,
(2) AOPQ Dfifd S D/ M % KD X,

121. Wy = x2 Bic, By = ax + 1ICBAL THFRAMEICH 2570 % 2 1P, Q 237
T3 %57 andEifzRko X, (—1&R)

122. AABCIiZBWTC, ABCOHEHAEMET L, DL &, AB2+AC2=2(AM?+BM?)
iND A RYAS R



